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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 1.74197e-05, Min=-1.04491

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 1.7419692e-05, Min= -1.0449107
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E_IDL: Max= 2.33181e-05, Min=-1.04566

g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.)
- DCPS: Max= 2.3318072e-05, Min=-1.0456611
-151 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ ___________________HA
C N 1 1 1 N 1 1 -
-4 -2 0 2 4 6
time
= T T T T T T 3

TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 2.43009e-05, Min=-1.04590

TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 2.4300944e-05, Min= -1.0458998
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max=0.0979026, Min=-1.07610e-05

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 0.097902594, Min=-1.0761008e-05
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142 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ . _______
C N 1 1 1 N 1 1 -
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 0.0973309, Min=-7.45008e-06

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
DCPS: Max=0.097330827, Min=-7.4500835e-06
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 0.0974300, Min= -8.52220e-06

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 0.097429949, Min= -8.5222026€e-06
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 0.000240005, Min=-0.0358518

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 0.00024000425, Min=-0.035851840
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 0.000253555, Min=-0.0359564

TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.)
DCPS: Max=0.00025355322, Min=-0.035956492
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max=0.000273842, Min=-0.0361065

TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max=0.00027384087, Min= -0.036106465
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—Fault Ends: 0.33427402 ]
- TF Torques -
| Shot: 3186, Param. Tree 72 |
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TTT

TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 20.1698, Min=-30529.3

TF SS and OoPM, Half_OoPM (normal, circular)
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DCPS: Max= 20.169849, Min= -30529.270
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= Shot: 3186, Param. Tree 72 _5
E IDL: Max=13.1638, Min=-29975.7 §
E TF SS and OoPM, Half_OoPM (post. dis., circ.) 3
E DCPS: Max= 13.163781, Min= -29975.657 3
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TF Torques

Shot: 3186, Param. Tree 72

IDL: Max= 12.1972, Min=-29934.6

TF SS and OoPM, Half _OoPM (post. dis., shaped.)
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DCPS: Max= 12.197225, Min=-29934.605
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= TF Torques =
—_Shot: 3186, Param. Tree 72 =
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= TF Torques 3
= Shot: 3186, Param. Tree 72 =
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E Shot: 3186, Param. Tree 72 E
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